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RO R L 72 S0,

(1) —22 —x

(3) b>+5b

(5) 3a? +4a

(7) —3b2 + 4b

WD RIE iR L7 S0,

(1) —2% —zy

(3) 2% +zy

(5) 5p* + 4pq

(7) 4p* — 4pq

WO KB L7 S0,

(1) —m? +2mn

(3) 15¢® + 6¢

(5) 4b* + 12bc

(7) 2022 + 122y

(9) 6m? — 8m
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(2) 9m? — 12m

(4) 3¢* + 3¢

(6) —4y® — 3y

(8) —4y® + 4y

(2) —3y? — 12y2

(4) 822 + 6zy

(6) —12m? + 20mn

(8) —20m?2 + 16mn

(2) 6y — 10y

(4) —2b% + 6b

(6) —62%2+9z

(8) —42% — bz

— 13th-note —



(5) y* — 5y — 14

- E# 922 0104-3 -
4. wosrmEssm LS,
(1) 22 — 10z + 25 (2) a® +10a + 25
(3) b*+4b+4 (4) b¥> —4b+4
(5) x? — 14z + 49 (6) b2 +4b+4
5. wosamEmmLAES,
(1) 2 + 9z + 20 (2) b¥* —3b+2
(3) 22 — 3z — 10 (4) 22+ 2 -2

(6) a® —9a + 18

(7) ¥ —b—6 (8) 2% +z —30
(9) y*+y— 56

0. mosamssmmLAs,
(1) 22 — 16 (2) a®? —4
(3) b* — 64 (4) y?—4

(. wosemssi Lz s,
(1) 2* + 8z + 16 (2) a® + Ta+10
(3) 2% — Tx 4 12 (4) 22 — 14z + 48
(5) 2% — Tz — 8 (6) 2% —25

— 13th-note —



8. WOREEESIL 7S 0,

(1) 42 + 20z + 25

(3) 922 + 24z + 16

0. woszmsmL s,

(1) 22 —Tx +6
(3) y* — 2y —8

(5) a® — 9a + 18

10. wostamssmy s,

(1) 4b% — 1

(3) 9b% — 4

11. wostamssmy s,

(1) b* +b—20

(3) 4a®> —12a+9
(5) y% + 15y + 56
(7) 25z2 + 20z + 4
(9) 4a% -1

(11) 9p% — 1
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(2) 2522 — 20z + 4

(4) 922 — 30z + 25

(2) 2% — 92 +20

(4) y> —2y—15

(6) a® + 10a + 16

(2) 422 -9
(4) 922 — 16
(2) 2522 — 16

(4) 2% — 4z — 12

(6) 22 —2x — 8

(8) a® + 10a + 16

(10) 2527 + 30z + 9

— 13th-note —



12, woszmsomy 2 s,

13.

(1) —22% + 2z

(3) 1522 — 9zy

(5) 422 + 6zy

ROREWNB LR S,

(1) 42% — 122+ 9

(3) y* =3y — 54

(5) 2522 + 10z + 1

(7) 4a% — 1

(9) a® + 7a — 18

(11) 22 — 8z + 15

(13) y2 — 5y — 24

(15) 2502 — 1

(17) b2 — b+ 10

(19) 22 + 2z — 24
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(2) —2n? —3n

(4) —8x? — 6y

(2) 42% — 25

(4) x2—Tr—38

(6) 9a% — 1

(8) 25y% — 1

(10) a® — 7a — 18

(12) 2% + 3z — 28

(14) v¥* 4+ 7b— 8

(16) b* — 4b — 32

(18) 2522 — 9

(20) 2522 — 30z + 9
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1. woszmssmLzs.

(1) 22—z —x(x + 1) (2) 9m? —12m 3m(3m — 4)
3) > +5b b(b+ 5) 4) 32 +3¢ 3c(c+ 1)

(5) 3a>+4a —a(—3a — 4) 6) —42 -3y —y(4y + 3)
(7) —362+4b b(—3b + 4) 8) 42 +4y 4dy(—y + 1)

D ORI LS

(1) —22—ay —x(x + y) (2) =3y> —12y: —3y(y + 42)

3) 2 +2y x(x + 1Y) (4) 822 + 62y 2x (4 + 3y)

(5) 5p2 +4pg P(5p + 4q) (6) —12m? +20mn —4m(3m — 5n)
(7) 4p* —4pg 4p(p — q) (8) —20m? + 16mn —4m(5m — 4n)

3. KORERESHL 2 S

(1) —m? +2mn —m(m — 2n) (2) 652 —10y 2y(3y — 5)
(3) 152 +6c 3c(Be + 2) (4) =22+ 60 —2b(b — 3)
(5) 4b2 + 12bc 4b(b + 3c) (6) =622 +92 —32(2z — 3)
(7) 2022 + 122y 4z (5T + 3Y) (8) —422 -5z x(—4x — 5)

9) 6m2—8m —2m(—3m + 4)

— 13th-note —



4.

b.

6.

[

E N

WO RE R L7 S0,

(1) 22— 10z+2 (€ — 5)2
3) 2 +4b+4 (b+ 2)2
(5) 22— 14w +49 (& — 7)2

RO iR L 72 S0,

(1) 2> +9z+20 (x + 5)(x + 4)
3) 22=3z-10 (x — 5)(x + 2)
() v -sy-14 (y — 7)(y + 2)
M vr-b-6 (b+2)(b—3)

9 v +y-56 (¥ — 7)(y + 8)

ROXE R LRE N,

(1) 22-16 (¢ — 4)(x + 4)

3)2—64 (b4 8)(b— 8)

WOREZRBHR LIRS,

(1) 22 +8z+16 (€ + 4)?
3) 2-72+12 (x — 3)(x — 4)

(5) 2 -72-8 (x — 8)(x + 1)

f

0104-3 -

2 a®+10a+25 (@ + 5)2
@) 2 —ab+4 (b — 2)2

©6) v?+4b+4 (b+ 2)2

2 »»-3+2 (b—1)(b— 2)
4) 2+z-2 (x — 1)(x + 2)
6) a>—9a+18 (a — 6)(a — 3)

8) 22 +2z-30 (x — 5)(x + 6)

2 a*—4 (a+ 2)(a — 2)

@y -1 (y—2)(y +2)

2) a*+7a+10 (a + 5)(a + 2)
4) 2~ 14z +48 (x — 6)(x — 8)

6) 22-25 (x — 5)(x + 5)

— 13th-note —



10.

11.

p, \

. ROXZRESM LIRS,

(1) 422 + 200 +25 (22 + 5)?

(3) 922 + 242 +16 (3 + 4)?

. ROXZREITM LIRS,

(1) 22—72+6 (x — 1)(x — 6)
® v -2-8 (y+2)(y —4)
(5) a>-9a+18 (@ — 6)(a — 3)

RO iR L 72 S0,

1) 42-1 (2b—1)(2b+ 1)
3) 92 -4 (3b+ 2)(3b — 2)

WO KB L7 S0,

(1) »*+b-20 (b—4)(b+ 5)
(3) 402 —122+9 (2a — 3)2

5) > +15y+56 (y + 7)(y + 8)
(7) 2522 + 202 +4 (Bx + 2)2

9) 4a2—1 (2a + 1)(2a — 1)

a2 -1 (3b4+1)(3b—1)

f
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2) 2522 — 200 +4 (Bx — 2)2

(4) 922 —30z+25 (3 — 5)2

2) 22-92+20 (& — 4)(x — 5)
@ v -2-15 (y+3)(y —5)

6) a>+10a+16 (a + 2)(a + 8)

(2) 422 -9 (2 — 3)(2x + 3)

4) 922 -16 (3 + 4)(3x — 4)

(2) 2522 - 16 (Bx + 4)(5bx — 4)
4) 2 —42-12 (x + 2)(x — 6)
6) 22—22-8 (x — 4)(x + 2)
8) a2+ 10a+16 (a + 8)(a + 2)

(10) 2522 + 30z +9 (Hx + 3)2
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12, woszmsomy 2 s,

(1) —22% + 2z —2CC($ — ]_)
(3) 1522 — 92y 3x(bx — 3y)

(5) 422 + 62y 2x (22 + 3y)

13, wosamsomL s,

(1) 422 — 12049 (22 — 3)?

3) v -3y-54 (y —9)(y + 6)
(5) 2522 + 10z +1 (Bx + 1)?

(7) 402 -1 (2a + 1)(2a — 1)
9 a2+7a-18 (a + 9)(a — 2)
(11) 22 =8z +15 (X — 5)(x — 3)
(13) 2 -5y —24 (y — 8)(y + 3)
(15) 25a2 -1 (Ba + 1)(5a — 1)
17 2 -m+10 (b —5)(b— 2)

(19) 2>+ 22 -24 (x + 6)(x — 4)

2) —2n2—3n —n(2n + 3)

(4) —82% — 6xy —2$(4$ -+ 3y)

(2) 422-25 (2 — 5)(2x + 5)
4 22—72-8 (x — 8)(x + 1)
6) 9a>—1 (3a 4+ 1)(3a — 1)
(8) 25*—1 (5y — 1)(5y + 1)
(10) > —7a—18 (a + 2)(a — 9)
(12) 22 +32-28 (x — 4)(x 4+ 7)
(14) >+ -8 (b — 1)(b+ 8)

(16) b2 —46—32 (b — 8)(b+ 4)
(18) 2522 —9 (Bx — 3)(5x + 3)

(20) 2522 =30z +9 (Bx — 3)?
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